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General English
Section Id : 264490591
Section Number : 1
Mandatory or Optional : Mandatory
Number of Questions : 21
Section Marks : 25
Enable Mark as Answered Mark for Review and Clear Response : Yes
Maximum Instruction Time : 0

Question Id : 26449017970 Sub Question Shuffling Allowed : Yes Group Comprehension Questions : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Question Numbers : (1 to 5)

Read the following passage and answer the questions based on it.

Many great inventions are initially greeted with ridicule and disbelief. The invention of the airplane was no exception. Although many people who
heard about the first powered flight on December 17, 1903 were excited and impressed, others reacted with peals of laughter. The idea of flying an
aircraft was repulsive to some people. Such people called Wilbur and Orville Wright, the inventors of the first flying machine, impulsive fools.
Negative reactions, however, did not stop the Wrights. Impelled by their desire to succeed, they continued their experiments in aviation.

Orville and Wilbur Wright had always had a compelling interest in aeronautics and mechanics. As young boys they earned money by making and
selling kites and mechanical toys. Later, they designed a newspaper-folding machine, built a printing press, and operated a bicycle-repair shop. In
1896, when they read about the death of Otto Lilienthal, the brothers’ interest in flight grew into a compulsion.

Lilienthal, a pioneer in hang-gliding, had controlled his gliders by shifting his body in the desired direction. This idea was repellent to the Wright
brothers, however, and they searched for more efficient methods to control the balance of airborne vehicles. In 1900 and 1901, the Wrights tested
numerous gliders and developed control techniques. The brothers’ inability to obtain enough lift power for the gliders almost led them to abandon
their efforts.

Sub questions

Question Number : 1 Question Id : 26449017971 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

According to the passage, the idea of flying an aircraft was fo some
people.

Options :
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| » heedless

, % uninteresting

3 v distasteful

4 % Unacceptable

Question Number : 2 Question Id : 26449017972 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

People of their days thought that the Wright brothers had
Options :

_ acted in a negative way

, » acted under negative influence
; » acted irresponsibly

4 acted without thinking

Question Number : 3 Question Id : 26449017973 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

By the end of the 18" century, the Wright brothers’ interest in flight grew into
Options :

% an Action Plan
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, » afoolish thought

3 « aneed to act

4 » anunfulfilled desire

Question Number : 4 Question Id : 26449017974 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Lilienthal's idea about controlling airborne vehicles was the

Wrights.
Options :

|« disliked by

, » accepted by
;  disproved by

4 % proved by

Question Number : 5 Question Id : 26449017975 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

The wright brothers almost abandoned their efforts on the gliders due to their
Options :
| = Ablity to design new gliders

Inability to test the power of the glides
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s x Ability to develop control techniques

Inability to obtain required life power for the gliders
4.

Question Number : 6 Question Id : 26449017976 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Choose the most appropriate from the options to fill the gaps in the following statement
He has been working for the company January, 2005
Options :

| % during

, « Since

; % before

L% after

Question Number : 7 Question Id : 26449017977 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Choose the most appropriate from the options to fill the gaps in the following statement

the last rainy season, many houses collapsed in the hilly areas.
Options :

% N
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, w Around

5  During

4 % BY

Question Number : 8 Question Id : 26449017978 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Choose the most appropriate from the options to fill the gaps in the following statement
John's elderly parents always prefer to travel car.

Options :

v BY

» % inside

3¥3in

4. % ON

Question Number : 9 Question Id : 26449017979 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Choose the most appropriate from the options to fill the gaps in the following statement
Tilak is university student.

Options :
|« the
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2. @

4 % No article required.

Question Number : 10 Question Id : 26449017980 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Choose the most appropriate from the options to fill the gaps in the following statement
Sarojini Naidu is Nightingale of India.

Options :

2. % an
3. % @

4% No article required.

Question Number : 11 Question Id : 26449017981 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Choose the synonym for the word INDOLENT from the below given words.
Options :
| % mindful

, o lazy
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5 » deadly

4 % significant

Question Number : 12 Question Id : 26449017982 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Add appropriate question tag to the given below sentence.
She attends the meeting

Options :
| % lsn't She?
, % Does She?

3 % Isn'tit ?

4« Doesn't she?

Question Number : 13 Question Id : 26449017983 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Choose the most appropriate from the options to fill the gaps in the following statement

Rekha reached the airport after the flight

Options :
L % has departed

, » Wwas departed
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3 had departed

, » have departed

Question Number : 14 Question Id : 26449017984 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Choose the most appropriate from the options to fill the gaps in the following statement
The principal for a walk in the school ground every day.
Options :

| % Isgoing

, x gone

oes
3.¢ 2

4w went

Question Number : 15 Question Id : 26449017985 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Choose the most appropriate from the options to fill the gaps in the following statement

When the tourists themselves the flower show yesterday, it started
to rain.

Options :
| % enjoyed
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have been enjoying

; » have enjoyed

4 Were enjoying

Question Number : 16 Question Id : 26449017986 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Choose the most appropriate from the options to fill the gaps in the following statement

The Governor the national flag at 8 a.m. tomorrow and

the awardees.
Options :
| hoists, honors

5 % will hoist, will honor

- is hoisting, is honoring

4 % would hoist, would honor

Question Number : 17 Question Id : 26449017987 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Choose the most appropriate from the options to fill the gaps in the following statement
A number of soldiers cduring the war last month.

Options :
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| o were injured

, % areinjured

3 % have injured

4 % have been injured

Question Number : 18 Question Id : 26449017988 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Choose the most appropriate from the options to fill the gaps in the following statement

The Minister, along with his officials the press every Saturday.
Options :
| % is meeting

, % are meeting
3« Meets

L% meet

Question Number : 19 Question Id : 26449017989 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Choose the most appropriate from the options to fill the gaps in the following statement
One of the doors of the bank by the thief who attempted a
burglary.
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Options :

% is damaged

, o Was damaged

, » are damaged

, w were damaged

Question Number : 20 Question Id : 26449017990 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Choose the most appropriate from the options to fill the gaps in the following statement

Neither John nor Peter this book.
Options :
L has read

have read

were reading

. have been reading
4.

Question Number : 21 Question Id : 26449017991 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
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Which one of the following options best expresses the given sentence in
Active/Passive Voice?
Sentence: The invigilator was reading out the instructions clearly.

Options :

The instructions have been read out by the invigilator clearly.

The instructions are being read out by the invigilator clearly.
2. %

The instructions were being read out by the invigilator clearly.
3.¢

L% The instructions has been read out by the invigilator clearly.

Question Number : 22 Question Id : 26449017992 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which one of the following options best expresses the given sentence in
Active/Passive Voice?
Sentence: A small boy could not have carried this big parcel.

Options :

This big parcel could not be carried by a small boy.
1. %

. This bhig parcel could not been carried by a small boy.
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This big parcel could not have been carried by a small boy.
3.¢

This big parcel could not being carried by a small boy.
4, %

Question Number : 23 Question Id : 26449017993 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which one of the following options best expresses the given sentence in
Direct/Indirect Speech?
Sentence: The teacher told the boy that he was not studying well.

Options :

| The teacher said to the boy,” You are not studying well”.

5 % The teacher told to the boy,” You are not studying well”.

The teacher said to the boy,” He is not studying well".
3.

The teacher told to the boy,” He was not studying well”.
4, %

Question Number : 24 Question Id : 26449017994 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
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Which one of the following options best expresses the given sentence in
Direct/Indirect Speech?
Sentence: The manager said to the clerk, "Have you completed the work?”

Options :
| % The manager asked the clerk if he has completed the work.

” The manager asked the clerk if he had completed the work.

. The manager asked the clerk if the work has been completed.
3.

4% The manager asked the clerk if he have completed the work.

Question Number : 25 Question Id : 26449017995 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which one of the following words best expresses the meaning of the

underlined words in the given sentence?

Sentence: It rained cats and dogs last night.

Options :

| % moderately

, w lightly
3 % intermittently

4  heavily
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General Knowledge

Section Id : 264490592
Section Number : 2
Mandatory or Optional : Mandatory
Number of Questions : 15

Section Marks : 15

Enable Mark as Answered Mark for Review and Clear Response : Yes
Maximum Instruction Time : 0

Question Number : 26 Question Id : 26449017996 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

On which day of the year is the National Education Day observed in India?
S thlbruns Sl gt Ll ﬂ-"” PLS? s
Options :
March 6

& A6

January 14

g2 14

2. %

September 8

A8

3. %
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November 11

v 2411

Question Number : 27 Question Id : 26449017997 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The Internet is a

& Lo

Options :
Network
| % _-'I/.-r'.!‘d'-:"'

Network of Networks

~

o . e .
orer2 ) e

2. %
Software
a2
3.8 =
Server
J!/"
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Question Number : 28 Question Id : 26449017998 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

When was India’s capital shifted from Calcutta to Delhi?
?gy/uwbgﬁ e ol 3 W1 sE I 2

Options :
1935

1900
2. %

1911
3.¢

1929
4. %

Question Number : 29 Question Id : 26449017999 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

MQOOC stands for
i MOOC
Options :

Mobile Open and Online Course

. AL ST Sy
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Massive Open Online Course

ur;,!'/uf UeITeLatat

2. ¢
Media-based Open Online Course
AL VST d 4
3. %
Machine-based Open Online Course
U u{ffﬂ T ol drt o
4. %

Question Number : 30 Question Id : 26449018000 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Kangaroo’'s abdominal pouch is known as
_u[}':ﬁ.,:.fffd#%iuﬁ
Options :
Placenta Pouch

LE?L‘%"’L&

1. %
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Guttural Pouch

Nalt

Marsupium

[‘H‘"fi JL

3.¢¥

Synovial Membrane

G0

4. %

Question Number : 31 Question Id : 26449018001 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

“One class one TV Channel” programme of PM e-vidya expanded from 12 to.
%-@;L@f{ .ﬁ_,":‘.’ii-ig_&.ﬁ-lZKH!fjé"Jf:_u;-Jwgu@;”ﬂ;;-dnrﬁj_q

Options :
w120

, o 200

140
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4 150

Question Number : 32 Question Id : 26449018002 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The Gateway of India in Mumbai was built in honor of

# . - T ) S
b aAal o i Te e S s

Options :
King George
v ;_',ul?-._-é/
Lord Mountbatten
S
2. %
Queen Elizabeth
sk
3, %
Lord Macaulay
sl
4, % 2

Question Number : 33 Question Id : 26449018003 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
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The book “Origin of Species’ was authored by
_Lﬁﬁwifaﬁu’ﬁff_ﬂueﬂq
Options :

Charles Dickens

I e
1. % ¥

Charles Darwin

c)ﬁ;ljufJ;%

2.9
Charles Babbage
B e

3. % .

Charles Lamb

U e

Question Number : 34 Question Id : 26449018004 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The name of the virus that caused Covid-19 in the early days of the pandemic is
,f"L'b/l_f,:!:LJ:LL!v_‘.flg-ﬁufufu:?;'ilﬁff.‘,}u)t

Options :
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SARS-CoV-2
1. ¢

SARS-Covid19-2

2.
Cov-SARS-1
3. %
SARS-Covi-D2
4. %

Question Number : 35 Question Id : 26449018005 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Who among the following was given the Oscar Honorary for Life Time
Achievement in 19927

'E“r@ ,J._)f ._b.:fﬁlfl.f_ifﬂ;!jiﬁ')d?ut‘: 1992

Options :
DadasahebPhalke

iL{j_‘ﬂLﬂfﬁJ

Satyajit Ray

L-J:-:.::_L;""
2. ¢
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Aparna Sen
by
K B

Rituparno Ghosh

L% Uﬁﬁ-{‘; o)

Question Number : 36 Question Id : 26449018006 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Union Budget 2022 focuses on how many areas
GES 23 Ut & k202205

Options :

Question Number : 37 Question Id : 26449018007 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
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Who is considered the inventor of World Wide Web (www)?
‘e L:,l:r":u;r!"s’.f:;iﬂ:ﬂ;: (www)
Options :
Tim Berners-Lee

- J—u"/'f(’

Bill Gates
A

Larry Page
EéA

3. %

Jimmy Wales

Pl

Question Number : 38 Question Id : 26449018008 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The term Grand Slam is associated with
o re Pt/

Options :
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Lawn Tennis

u"gu‘ U

1.¢
Billiards

2. % i/‘%'
Chess

3. % 6/!?‘}
Basket Ball

L Juaty

Question Number : 39 Question Id : 26449018009 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The SardarSarovar Dam is a terminal dam built on the river
‘-"\:.fkfﬂpf.,.diu’"'ﬁﬁ;@J’:}_{Iﬁj;j;f;l;/
Options :
Sutle

L
1. ® é’
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Ganga
gtl:.-

Narmada

Il‘
3 S

Brahmaputra
4. % LRy

Question Number : 40 Question Id : 26449018010 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

What is the theme of the ‘Earth Day 20227
S VUBSS ,62022 ey

Options :
Covid and Planet

| % !J__L:H,-'J'Ij!!(
No to Pollution

. S ol
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Sustainable Living

=

a -~
O AINN

3. % o

Invest in our Planet

. .fg' , R

GBI A e
4. &

Teaching Aptitude

Section Id : 264490593
Section Number : 3
Mandatory or Optional : Mandatory
Number of Questions : 10
Section Marks : 10
Enable Mark as Answered Mark for Review and Clear Response : Yes
Maximum Instruction Time : 0

Question Number : 41 Question Id : 26449018011 Display Question Number : Yes Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Good Classroom Communication will ensure a
- - r,- & - I____. :
L&UJQ}&J‘U ;Eur!utfd :r-"ll.ﬁ;-/ e
Options :
supportive classroom climate

- AL =tz f
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good learning environment

2. Jﬁw/ét‘{'

activity-based classroom

% :’iu”/&{-@f/

3.

joyful learning experiences

:,L:/,"E.*ﬁfﬂﬁﬁ

4, %

Question Number : 42 Question Id : 26449018012 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

A teacher discussing the academic problems of students with other colleagues in the
school is

eSS LW A LUl it FIzt L
Options :

Upward Communication

S B s

1. %

Downward Communication
L):;Lj'.!j
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Horizontal Communication

Grapevine Communication

. FEH

4.

Question Number : 43 Question Id : 26449018013 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

One can become a popular teacher among students by
Wt UL Lo gt Lo s LW

Options :
awarding good marks

| % L?_;J:.Jﬁ"(i'i!

handling special classes

5 % L’;rT’U'?FE/JJLElfr“:;

helping them solve their problems

ki TS S
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giving learning materials

o/ A1 ol Sk
4. %

Question Number : 44 Question Id : 26449018014 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The best way to maintain discipline in the class is to deal with the students
LIS A LWL L LS ) o Srmslan S
Options :
affectionately

strictly and friendly
:r!JJKJ!JJ!IC'f

2. ®

strictly and authoritatively

xS oS

politely, but firmly
P -0 T o

Question Number : 45 Question Id : 26449018015 Display Question Number : Yes Is Question Mandatory : No Calculator : None
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Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The most important element of teaching is
ﬁﬁ!g’j;;
Options :

Teacher's Knowledge in the subject

% %%FL;&JUU«*

Teacher-Student Relationship

v :-:’..JKH;-:-*JLE'JJ’J.JA

2. -

1.

Teaching Techniques

e
e St

3. %

Technological Aids for Teaching

e LS As

4, %

Question Number : 46 Question Id : 26449018016 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Effective classroom environment can be ensured by

Fi..by/gé. Litivfes L?.n/
Options :
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lively student-teacher interactions

e Ol S g s
B F e

advanced technological gadgets

LTugf d. ":—-JJUiF'

2. 8

pin-drop silence in the class

3 % J:“'L:"ug[:u'::.-%ﬁn/

high-cost infrastructure

L A PEES

Question Number : 47 Question Id : 26449018017 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

If one wants to become the best teacher, he or she should
—o!?ﬁ:.%'ﬁJJJC«r_ ";.LE;(;!
Options :
control the class effectively

E S e i dasan )
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correct the test papers and assignments strictly
e s éL?Jui‘(‘ LJU:!U",;_::E-._".#.::

2. %

handle the classes humorously
PP | 15510

motivate the students to learn

SSipber Sb L S

Question Number : 48 Question Id : 26449018018 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The primary purpose of punishing a student is to
_ﬁ.—xﬁz’djﬁb’%;!f:r’(};@&_g
Options :
show the teacher’s authority

G635 s St

1. ®
correct the offender

[
. L'ILUJJ["/?
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threaten the other students

L‘!;h@bgf’u

enforce discipline in the class

CSFG Loy Sreslzg )

4, %

Question Number : 49 Question Id : 26449018019 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

If the students show lack of interest in the subject, a teacher should
e bt /U et 6 ﬁ;rﬁuﬁ‘.uf" S

Options :
make his or her teaching more interesting

| % f_.ﬁ,f:_.ﬁmu;/u': Jodk

teach with real life examples

Sord Lyl SuE

2. %
attempt to find out the reason for lack of interest

LT S0 B= (4
3.9
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teach with stories and songs
u:flﬁzﬁ' LUy L;#/
4, % ’

Question Number : 50 Question Id : 26449018020 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

A teacher can learn the nuances of teaching the subject and dealing with students from

_g,ﬁﬁagc.cjid/}’;.w;.ﬂggxg J;‘JJL;’)".VJJ,h
Options :
Students

N

1.v

Fellow Teachers

XS L

Senior Teachers
&

s XA Sy

Principals

k—:JJ

L
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Mathematics

Section Id : 264490594
Section Number : 4
Mandatory or Optional : Mandatory
Number of Questions : 100
Section Marks : 100
Enable Mark as Answered Mark for Review and Clear Response : Yes
Maximum Instruction Time : 0

Question Number : 51 Question Id : 26449018021 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The solution of 1‘%: v (logy —logx +1)is
X

I
J"K’r% =y (logy —logx + 1)

Options :
=l
1. %
log v =cx
2.
c
W=
3. % )

leg v = logex
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Question Number : 52 Question Id : 26449018022 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The solution of ydx-xdy = 3x2e* y2dx is
3
S¥ ydx-xdy = 3x%eXy2dx
Options :

3
xX=ye* +cy

1. ¢
3
y=ye* +cx
2. %
3
v=xe® +cx
3. %
3
xy=ce® + cx
4. %

Question Number : 53 Question Id : 26449018023 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

: : d
The integrating factor Df.’fﬁ + 2y —x%logx =0

. . - xody _
-3 dﬁzﬂﬁ‘_‘g{ o 2y — x%logx =0

Options :
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x2
1. &

1

2
2.8 7F

1
3.8 %

3
g% ¥

Question Number : 54 Question Id : 26449018024 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The singular solution of v = Px + (a/p) is

- qul?ﬁly = Px + (a/p)
Options :
1. % F=
P2y
2. %
y? = 4ax
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y=2a%

Question Number : 55 Question Id : 26449018025 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which one of the following equation is not in Clairaut’s form?
S UK Sl e ibagii i
Options :

y=px+p—p’

1. %

(1—x2y2)dx = ydx + xdy
2. ¢

(xp—y)? =p* -1
3. %

sSinpxcosy = cospxsiny +p
4. %

Question Number : 56 Question Id : 26449018026 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The general solution of p=log(px-v) where p=j—i 1S

e “ax Uz SUE p=log(px-y)
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Options :

y =.€x +:ef
1. ®

= C_,{.Z __ gt
2. %

V=R = g%
3.¢

¥ =cx> +ef
4. %

Question Number : 57 Question Id : 26449018027 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The solution of (D? + 1)y = 0is
J¥ D+ 1)y=0

Options :

Acosx + Bsinx
1. ¢

e*(Acosx + Bsinx)
2. %

(A; + A5) cosx + (A; + Ay)sinx
3. %
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(A; + A;) cosx + (4; + A,x)sinx
4. %

Question Number : 58 Question Id : 26449018028 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The differential equation x(1 + y®)dx + v(1 + x)dy = 0 1s
g x(1 + yA)dx + y(1 + x)dy = 0 = lsls3 ¥
Options :

Homogeneous equation

:.f.','l#d"l_?
1. ®
Linear equation
.:JJ:LM{_;)
2. ®
Bernouli equation
..:..-.J;Lﬂd;,{
3. %

Exact equation

-

4 -.:-—I;Lr'ﬁy
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Question Number : 59 Question Id : 26449018029 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

d3x d=x dx
— “¥ y?

The complementary function on of £5-255-3;

U/ d¥x 2d%x 3dx _ .
...-‘L-—h:-le"U"' dt3 dt? ot
Options :

ci+co et +cae™t

1. ¢

citeo 92t+03 g3k
2. %

c1et+eo e 4oz o3t

citca e 2t+czedt

Question Number : 60 Question Id : 26449018030 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The particular integral of (D2 — 2D + 5)y = e ¥ is
e M2 (D?- 2D + B)y = €*

Options :
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—e
8

1. ¢
I
—e

2. % 4
_Ex
8

3. ®
L .
—e
4

4, %

Question Number : 61 Question Id : 26449018031 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The two linearly independent solutions of (D% — 3D + 2)y = sine * are

J’@tﬁﬁ;‘[ (D? - 3D + 2)y = sin e*

Options :
—2
p=et Ly, =t
1. % )
=€ v, =xe"
2. % )
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Question Number : 62 Question Id : 26449018032 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The particular integral of (D3 — D2 — D + 1)y = 1+x? is

e M A% (D -D2-D+1)y=1+x2
Options :
x2+2x+5
1.¢
x2—2x+5
2. %
x2 4+ 3x+4
3. %
x2—2x—5
4. %

Question Number : 63 Question Id : 26449018033 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
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The homogenous differential equation M (x, v)dx + N(x, y)dy = 0 can be reduced to a

Differential equation in which the variables are separated by the substitution

Syt 3 @u’;ﬂfy ;)fc«f!b‘@)"}f M(x,y)dx + M(x,y)dy = 0 ..:«I;Lﬂ«-d“ﬁuj?”

e bl &4

Options :

Y=Vx
1. ¢

‘{'}." — I_J‘
2. %

Xt+tv=v
3. %

X—y=v
4. %

Question Number : 64 Question Id : 26449018034 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The intercept on the x-axis of the plane x+y+z=1is
J&%Ji}{ﬁ’dﬁ”x+y+z=1
Options :

1. % 1
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2.% 2

3. % 2
1

4.

Question Number : 65 Question Id : 26449018035 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Angle between the planes x+y+z=1land x—v=2is

fjljé_l(‘ﬂgdﬁ"x-y=2;:l'x+y+2=1

Options :
1. % v
T
2
2.9 =
i
3
3. %
T
4, % *
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Question Number : 66 Question Id : 26449018036 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The equation of the plane passing through the point (—=2.-2.2) and containing the line joining
the points (1.1.1) and (1.—1.2)is

- * - - '5:' HQ‘
.,%:,Lp‘dba.ihy((t -1, 2) (1,1,1)muﬂuﬁﬂl;uwdwdw_.m;, (-2, -2, 2) L%

Options :

X+2v—-3z+4=0

3Ix—4v+1=0
2. :
Sx+2v—3=z—-17=0
3. % ’
X—3v—-06z4+8=0
4, &

Question Number : 67 Question Id : 26449018037 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The equation of the plane through the points (1,-2,4) and (3,-4,5) and parallel

to X axis 18

—e QP x el e (3,-4.5) 41 (1,-2,4) iz eblad
Options :
y+2z=6

1.v
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v-2z=6
2. %

3 % 2ytz=6

4 % v+2z=6

Question Number : 68 Question Id : 26449018038 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Two planes represented by ax® +b1” + ¢z +2 fiz +2gzx + 2hxv = 0 will be perpendicular if
ufié,qlﬁ@)’u’l ax® + by? + cz® + 2fyz + 2gzx + 2hxy = 0 J#*»

fﬁrﬁiﬁxlsﬂf.a;;ﬂ:._«g
Options :

L a+b+ec=0

) % f?.'_??f" =)

ab+bc+eca=0

a+b+e=1
4. %
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Question Number : 69 Question Id : 26449018039 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The equation of the plane passing through the intersection of the planes

x+2yv+3z=4, 2x+y-z+5=0 and perpendicular to the plane 6z+5x+3v+8=0 1s

6z+5x+3y+8=0 5’;5..ﬁ2.f}‘:.-*_3 G x+2y+3z=4, 2x+y-z+5=0 :_:?*‘uf.;!:l.-ﬁf |
i LJ.H;I:JJ’FL

Options :
51x-15y+50z+173=0

1. %

S51x-15y-50z+173=0
2.

51x-15y-502z-173=0

None

Question Number : 70 Question Id : 26449018040 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

50/111



7/14/22, 4:25 PM

, x4+l -1 =z=2 : ,
The angle between the line 3 s = P and the plane 2x—1v—-3z—-4=0is

x+1 y—-1 z-=-2

el g 4“ ksl 2x-y-3z-4=0 i/

Options :

Question Number : 71 Question Id : 26449018041 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The distance of the point (1,-2,3) from the plane x-y+z=5 measured parallel to the

line where they are proportional to 2,3,-6 1s

e (2,3,-6) L AT xoytz=5 sl (1,:2,3) &
Options :
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Lv 1

Question Number : 72 Question Id : 26449018042 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

X gl _gueld  me—d

;
The lines 1 2

3 and —2 —4 —6  are

x=1 =2 -3 xX_Yy_z
. r::"‘ — = ity o
Options :
parallel
Lo G

intersecting

2
2
2. %
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skew
3. % és
coincident
4. % Jy

Question Number : 73 Question Id : 26449018043 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
x—1 y—=2 =—3 x—2 y—4 z-5,

The shortest distance between the line - o == and -
- 3 4 4

o x—2 y-4 z-5 A=t Y=l =3 ;
M el 3T T A 3 7 ¥

Options :
1
1. 6
1
2. % 6
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o | =

Question Number : 74 Question Id : 26449018044 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which of the following equation does not represent sphere

- &fr;':‘(jﬁ U{f ﬂ/;n-"-'-f Iy L-f'd Souhr

Options :
X2+ yvi+z—6x+8y—10z+1=0

1. %

S 2 - i =

x4y +z-+6x—4y+2z2+14=0
2. %

x2 432422 44x—2vy4+824+25=0
3.9

X°+v2 422 42x —4y—62z—2=0
4, %

Question Number : 75 Question Id : 26449018045 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
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The two spheres x? + y? + z?=25 and x? + y* + z% — 24x — 40y + 225 = 0 are __
X2+ y?2 472 = 25 11 x% + y? + 72 -24x -40y + 225 =0 215

Options :
Touches internally

. VELI(JJ{;I:

1.

Touches externally

SIS EN

2. ¢
Intersection two points

- h{fifﬁlﬁiu

Do not intersect

i S AT

4, %

Question Number : 76 Question Id : 26449018046 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
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The plane 2x—2v+z+12 =0 touches the sphere x* + > +z* —2x—4v+2z—3=0 at the point

X+ o4y +22-3=00/%2x-2y+z+12=0(5

e I:’)L"':; &
Options :

(1,-4,-2)
1. ®

1,42
L ( )

(-1,-4,2)
3. %

(1,4,-2)
4, %

Question Number : 77 Question Id : 26449018047 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The point of contact of the spheres x* + V> + > +2x—4v -4z -7=0,
P2+ 2x—4y—16:+65=0is
W+ +Z2+2x-4y-162+65=0xX° +y’ + 22 +2x -4y -4z-7=0
I B
Options :
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| x (1,26)
L (12:6)
L x (1-26)
o (126)

Question Number : 78 Question Id : 26449018048 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The pole of the plane x-y+2z-9=0 with respect to the
sphere x> +y*+2z2—-9=0 is

€ x-y+22-9=0 Ol 9L X2 + Y +z2-9=0s/

Options :
(1.2.3)

1. %

(2!3:_1}

2. %

(2,1,2)

3. %

(1,-1,2)
4.
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Question Number : 79 Question Id : 26449018049 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

If two spheres of radius 7, and 7; cut orthogonally, then the radius of the common circle is

_ade S gl S 2 11 Pl i

Options :

173

[Jl 2
h +.i"J

2. %
3 - 3
nhall 5
3. %
7
35,2
i+
4.9

Question Number : 80 Question Id : 26449018050 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
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The angle of intersection of the spheres x> 4+ v” +z* —2x—4v—6:-+10=0and
T+ —6x—2v+22+2=0is

Xty + 2 - Bx-2y+22+42=0nx+y? +Z22-2x-4y-62+10=0
ﬁﬂﬂ’u;?f

2.
T &
cos 1{—
3
3. %
b7
3
4. &

Question Number : 81 Question Id : 26449018051 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
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The vertex of the cone x2 — 2y? + 322 —4xy +5yz —6zx +8x — 19y —2z— 20 =0 is
JIEX? - 2y? + 32% - 4xy + Byz - 6zx + 8x - 19y -22-20=0 bs 7

Options :
(1,-2,3)
1. ¢

(1,2,3)
2. %

e (1,2,°3)

{_152J3}
4. %

Question Number : 82 Question Id : 26449018052 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The locus of the lines through the vertex of a cone normal to the tangent planes is called
& t'lJv;f &« thJf,;JF’JVc_Jlié .LJ;KJ;}KB:I"'

Options :
right circular cone

. b}fo'ff!:r‘i.r

60/111



7/14/22, 4:25 PM

enveloping cone

b /du!

2. %

reciprocal cone

Lo 21 e
3. <t a

quadratic cone

b3 fd 2333

4, %

Question Number : 83 Question Id : 26449018053 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Equation to the right circular cone whose vertex is at origin the axis along x-axis and

semi-vertical angle @ is

il ,::lj.alurfri{_.u'; X =& 4,144 “I;(yﬁélsbﬁfd}uﬁﬁ'

[

Options :
2 3
X“+y =z tana
1. ® '
E T R 2
Vit =xtan" @
2.¢

a 9
Votan® o
3. %
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X tang

Question Number : 84 Question Id : 26449018054 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

If {=(13256) (23) (46512) 1s a permutation then the order of f 1s
o8 ff-’fcg-JJi;f’bgf f=(13256) (23) (46512) /'é'

Options :

on

4 % 12

Question Number : 85 Question Id : 26449018055 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

If {=(2 3 6), g=(1 4 6) then gi=
=gf —* g=(1 4 6) 4=(2 3 6) /1
Options :
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(14236)
1. %

(1436 2)

(41236)

(1462 3)
4.9

Question Number : 86 Question Id : 26449018056 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

In the group {Z; — {0}, ®}, the inverse of the element 5 is

EE 5 A2, - (01,0} oo/

Options :

3
1. ¢

2
2. %

1
3. %

A
4, ®
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Question Number : 87 Question Id : 26449018057 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The order of 3in (Z,+) is
283U (Z, +)

Options :

Infinite

v G

Question Number : 88 Question Id : 26449018058 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The number of automorphism of a cyclic group of order n is

w . . F -
lejd:ﬂjJLjf'vI:Tf/’ldijlfﬁ:j n
Options :

& N
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@(n)

Question Number : 89 Question Id : 26449018059 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which one of the following is a Boolean ring?

-& bﬂﬁ:’ Lf;_-,':r-fj J'“ dosa

Options :
v
1. %
&)
2. %
4 dgers TR
v (p(s), +,.)

Question Number : 90 Question Id : 26449018060 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The binary operations in N are
S JUGIUEN
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Options :
e T
2 T
a7
4, ®

Question Number : 91 Question Id : 26449018061 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which one of the following is not a semi group?
?%-U:‘;-'VC"::L’G"'/U:&-J.'.E

Options :

(Qr _)

1. ¢
(N,+)
2. %
(R, +)
3.

4, % (Z,+)
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Question Number : 92 Question Id : 26449018062 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Let H,K be subgroup of a group G, then
ol H, K oo /2Pl G U2 P
Options :
H U K is a subgroup of G
= -

1. %
H N K is a subgroup of G
- HNK w1 /256
2.4 ¢ ¥
H X K is a subgroup of G
-=Hx K .T«J/f.:ﬁf?{G
3.8 '
HK is a subgroup of G
-& HK Tsf:.ihb/G
4, %

Question Number : 93 Question Id : 26449018063 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
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Which of the following 1s false
—c bl 6L
Options :

Every abelian group 1s cyclic

;:'_t'ﬁd}bf.rfc:kl/;

1.
Every sub group of a cyclic group 18 cyclic
‘L-t'ﬂd}l.?:.df@;ﬁs;:a u’iﬁlr

2. % )
Every cyclic group 1s abelian

F
. ,.-:_t‘ﬂ.:-:)g:"""l.:.-s; S

3. ‘ )
Every group of prime order 1s cyclic
.ff.t‘ysﬁﬁf:fefr; K@.;JJL&

4. %

Question Number : 94 Question Id : 26449018064 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Every group of prime order is

_d'.'__ T!)“TTE:?J”}‘

Options :
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Cyclic
i_ff*l:-
1.

non-abelian

z ;
. b

2.
subgroup
T’)J
3.%

normal group

4 % ";‘jfhbt

Question Number : 95 Question Id : 26449018065 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The inverse of the permutation (; i g g i)

JIQ‘K@ i 3 g i)Jﬁ?‘

Options :
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eierd
2. %
EiEEs

Question Number : 96 Question Id : 26449018066 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The order of the element 13 in U(14) 1s
26 13 A9U% U(14)

Options :

S

70/111



7/14/22, 4:25 PM

Question Number : 97 Question Id : 26449018067 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

If H is a subgroup of G, m is the distinct right cosets of H in G, n is the number of distinct left

cosets of H in G, then
;3I¢_,Lfﬁr7ufb..5-w mL HUEG « H .._rsf-.:'.-gb/ G Al
Jr;%_)fﬁd/vr%?:x‘; n d: H d: G

Options :

m = 2n
1. %

n = 2m
2. %

m=n
3.9
L% m = 3n

Question Number : 98 Question Id : 26449018068 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

A homomorphism G — G' is an isomorphism iff the kernel consists of

b IS AR 6 o 6 iR

Options :

7111
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the identity ‘e’ only
FORE T T
e Sl

1. %
a normal subgroup of G
.._.l..s,f.:j:ifb’G
2.
a factor group of G
3 % o ]
quotient group of G
A EY (e
4% 7

Question Number : 99 Question Id : 26449018069 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

An ideal of Z, is
e Jial¥za

Options :

o, 02

{0,1}
2. %
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{0,3}

3. %

{3}

Question Number : 100 Question Id : 26449018070 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

@ : Z12—Z12 defined by 0(x) = 3x V x € Z12 1s a homomorphism then k(y0) =

k(yo) = _,:'.;;;_,_—;,;!,;L["Q‘:I Bx)=3xVx€Zi2 fk@-@kﬁ/bdl @ : Zia—Za2

Options :

{0,4}

1. %

., (048]

| {0,2,4}

3. %

. x 026

Question Number : 101 Question Id : 26449018071 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
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lim(l%—l} is equal to

H— F’;")-'

H—so

) ',( l £l
{ iiff] -+~
..ﬁ:_u:«L-AH:uf 'm{ HJ

Options :
1. % 1
o0
2. %
3. % L
e
4.9

Question Number : 102 Question Id : 26449018072 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which of the following 1s false
_.'::.biﬁu)_[{; Lf{;))rﬁfutj

Options :

Every group of order 4 1s abelian

et "'I_g_“zalefUJ!,:}J: 4
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Every group of order 5 1s abelian

- ;L‘Jf'l...gl..‘,:..,s/rj;lli:,?u 5

2. %

Every group of order 6 1s abelian

- gt&l_gfa)fqﬂis,;;: 6
3.¢ ’

Every group of order 11 1s abelian

- cﬁj":lu.gf?j/‘j: Uhosn 11

Question Number : 103 Question Id : 26449018073 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Any non-empty subset of real numbers which is bounded below has

—&-bn I"R uﬁd‘ v qﬁdi&}fdfémjﬁ’

Options :

infimum

-

LA

1.v

both infimum and supremum

U ¥l 2

2. %
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supremum

-

3.8 7

neither infimum nor supremum

| . -
AT

Question Number : 104 Question Id : 26449018074 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The number of units in the ring Z14 is
JJ;u(LJfK’ucy 214

Options :

12

Question Number : 105 Question Id : 26449018075 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
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1 "y

Z[_PJ is convergent if

Fif
1)

ﬂ‘%—?iu‘;hﬂ‘g} Z[ n P J
Options :

Pe]

Question Number : 106 Question Id : 26449018076 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which of the following is Integral Domain

x:*:..,.? U‘ﬁ Lr’u,i![,c .;_.atj
Options :

Lx L

1. %
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M2(Z)
2. %
3 Z11
212
4, ®

Question Number : 107 Question Id : 26449018077 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

¥ O<x<d
Iif F(x) z{ _ then

3—x 1sx<
xr O<xxl
J.f{xiz{;_ “‘_’: )
- o 2 =

Options :

lim f(x)=1

x—l
1. %

lim f(x)=2
) % =l

lm f(x)=2
r—1
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both (a) & (b)
4. &

Question Number : 108 Question Id : 26449018078 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

In a polynomial ring z,[x], (1 4+ x)3 =
= (14x)° X 2,[X] S 20
Options :

x+x2+x3
1. #

1+x2+x3
2. %

1+x+x3

1 +x+x2+x°
4, &

Question Number : 109 Question Id : 26449018079 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

79/111



7/14/22, 4:25 PM

In the ring of integers (Z, +, ) which of the following 1s a maximal ideal
- u|£¢ig:h‘vw}/{djjgﬁi: (z,+,7) Jlﬁ!éf
Options :

{0}

1. ®

127

2. %
s 11Z

,x 14Z

Question Number : 110 Question Id : 26449018080 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

If f and g are continuous on [ff.b] and have equal finite derivatives in [a.,b] then f-g is
B f- g <“U#~[a,b] pr"‘b;/;;d:bﬂluﬁf g« . [ab] /ﬁ
Options :

constant

-

S

1.v
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S
g

Question Number : 111 Question Id : 26449018081 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The number of proper ideals of a field F 1s

IS 2L f ard]

Options :
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Infinite

SE

4. %

Question Number : 112 Question Id : 26449018082 Display Question Number : Yes Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The function for which Rolle’s theorem is true is

- é;.i&:z: J’Lﬁd‘lﬁu
Options :

f(x)=1logx in the interval {

[ I

]

f(x)=logx U= [1/2, 2]

1. ¢
S &) :|'T+1| in the interval [_2‘2]
- F)=|x+1| 2B [-2, 2]

fx) =]

in the interval [_ : 1]

F)=|x Ui -1, 1]
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7ix= |I_ 1| in the interval [_2‘2]

L, SoO=[x=1] 25 -2, 2]

4.

Question Number : 113 Question Id : 26449018083 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

If f be a bounded function defined on [a.f}] and P, P, be two partitions of [aﬁb] such that

P is refinement of P, then

e p2 S p1 Saaitt p2, p1 (320L [a, b] VLA | Jnsis [a, b]

Options :

L(B.f)<L(B.1)

1. %

L(B.f)zU(R.f)
2. ¢

U2 )20 B.F)
3. %

L(B.f)=L(B.7)

4. %
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Question Number : 114 Question Id : 26449018084 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

if f is Riemann integrable on [n.b] then
e SOt 4 1a, 0]

Options :

'!1 b
J f(x)dx| < [| f®)ldx

1. v

: :

| f)dx| = [| £l
2. % !¢ 8

b b

J f(x)dx =I|f{xj|(ﬂx'
3% »

b b

J f(x)dx| > “ i {X)|d:r
4. % ’ ’

Question Number : 115 Question Id : 26449018085 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
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The number of associates of (2-1) in the ring of Gaussian integers 1s
- -
s 12, i) ALl Gt

Options :

Question Number : 116 Question Id : 26449018086 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

If ¢(x,v,z) = 3x%y — v32? then grad ¢ at the point (1, -2, -1} is
;ﬁJgrad (p ‘; (1, '2, '1) -&.;‘;'h“;' (b[x;}"nZJ = 31‘2}" "‘}"sz /f;

Options :

12,0, =g
RV )

(12,9,16)

{.121 _6r 9)
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(12,6,—9)
4. %

Question Number : 117 Question Id : 26449018087 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

If # = xT+ yJ + zk then div T is

S div?e—’f’:x?+yf+xﬁ_c’fﬁ
Options :
1. 3
2
2. %
0
3. %
1
4, %

Question Number : 118 Question Id : 26449018088 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The directional derivative of f = xy+yz+zx in the direction of the vector 1+2;+2k at
the point (1,2,0) 1s

o
[ Rl

IEEY f=xyryzezx SUL 42542k 27 (1, 2, 0) £
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Options :
E
L O
11
2. ® ;
3 % 12
14
4, ®

Question Number : 119 Question Id : 26449018089 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

FV = x2yi — 2zx7 + Z}IEE then curl Vis

e curl V. o5 V = x%yi - 22x] + 2yzk f's?

k

Options :

(x +2)— (z+x2)]
1. %

(x + 2)I+ (z +x2)]
2. ®
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(2x + 22)1 — (2z + xDk
3.9

(2x +22)1+ 2z + xz_}ﬁ
4. %

Question Number : 120 Question Id : 26449018090 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

A vector F is called irrotational if

Nk W5 i F

Options :
divF =0
1. %
curl F =1
2. ®
div F =1
3. %
. curl F =10

Question Number : 121 Question Id : 26449018091 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

88/111



7114122, 4:25 PM
If F=3x%i 4+ (2xz — v)j + zk along the straight line ‘¢’ from (0,0,0) to (2,1,3) then
‘IAEF. dris

e [F.ar Uil i1 F (2,1,3) £(0,0,0) 2F=3x%1 + (2xz — )] + 2k I

"
Options :

| % 10

-12
14

16
4. ¢

Question Number : 122 Question Id : 26449018092 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

If S is the surface of the cylinder x® + y* = 16 then the unit normal vector to the surface 7 is

?fﬁ?ﬁ;ﬁéﬁé“:i’ﬁ J-si:.fJi_l;':“F x%+y?=16 _.gl S /'T

Options :

2x1 — 2vy]
1. ®
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X3 e
oy
2.¢
3 % 2%l — ]
2x . ¥ -
5 S i)
4. %

Question Number : 123 Question Id : 26449018093 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Gauss divergence theorem connects

_;F'_ tir !( Urlnt:) g E;""J {

Options :

Line integral and Surface integral

ﬁbﬁslﬁf

1. &

Surface integral and Volume integral

S

Line integral and Volume integral
.pré:lﬁf
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all the above

(Y
4,

Question Number : 124 Question Id : 26449018094 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

If 'C’ curve x2 + y2 = 1 z= y? and F = yzi+zxj+xyk then LF, dr is

- J::F- dr — F= yEE-I'EXj'H(}-’E pIl ZZY?- cx2+y2=1 ' H_Cj e /ﬂ

Options :
0

1.v
L1

2. %
% B
2

4, ®

Question Number : 125 Question Id : 26449018095 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
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The value of 95:: v(2xy — 1)dx + x(2xy + 1)dy where cisthecircle x2 + y2 = 1is
i x2+y2=1 [,;;1,_1:; c JL?JY“UFJJJE;E: y(2xy — 1)dx + x(2xy + 1)dy
Options :

T
1. ®

ta |

w |

27T

Question Number : 126 Question Id : 26449018096 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

. 1 : :
The series 27, o r— P is converges if
& oo 1 b
fﬁ‘{ﬁhﬂti.l(: p "ii{: =1 n(logx) ’ J"’L'
Options :
P>1
1. v
) % P<1
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Question Number : 127 Question Id : 26449018097 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Zy, is anintegral domain if and only if n is

- n=__5ﬂJ:I_5ﬁ,)7:E:HJUEﬁ..Q Z,

Options :
cyclic
Y
identity
af
) % M
prime

&

v

3. ¢

zero divisor

. FEgpe
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Question Number : 128 Question Id : 26449018098 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The series Yoo, (Wn+1-vn)is

—— et (uﬂ-!—l-\/ﬁ},L,L«

Options :
Convergence
h.-nu"Ll'i'
1. % -
Divergence
sl
2. ¢ :
Conditioned
-
%/
3. %

Absolute convergence

- |
—d ]
L ]

4o

Question Number : 129 Question Id : 26449018099 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
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The characteristics of the ring (Z;,8,(9) is
Ut 2ol (ZeB,0) b

™

Options :

b
1.v¥

Question Number : 130 Question Id : 26449018100 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The Principal ideal (3) isa
e (3) )i
Options :

prime ideal of Z

JLab ¥ Z
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maximal ideal of Z

& ¥ z
S

2.

both (a)&(b)

uﬁu b .l a

3. ¢
neither (a) nor (b)
b ($<n g ~

4. %

Question Number : 131 Question Id : 26449018101 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Any finite cyclic group of order n is isomorphic to

.._Ain_'%tﬂﬁgtﬁ..g?jfd}l:gﬁﬁfjﬂll!_;.f.'r n
Options :
v Zn®)
) (Zn,©)
(Z,+)

3. %

96/111



7/14/22, 4:25 PM

(Z,)

4. %

Question Number : 132 Question Id : 26449018102 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

If St =2 and Sn+1= V2 S1 ¥ nEN then the sequence {Sn} convergence to

..:;t‘ﬁ.ffTﬁK{Sn} 19 Snr1= 281 VneN 41 $1 =2 .rﬁ-

Options :

2
1. ¢

||II_

2. % L

-2
3. %

=

V2
4, %

Question Number : 133 Question Id : 26449018103 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which one of the following statement is not correct?
—c bl KU
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Options :

any ideal of R is a subring of R
o 3beP [ R E3b4EGTY R

1. %

a subring of R is an ideal of R

- < ¢ R Sz (1§ R

the union of two subrings of a ring need not be a subring

S ln e L NI Pdnd ok

3. %
the intersection of two subrings of R is a subring of R
;E'_E‘:fﬁlf’afnf R rﬂ%@b@ﬁj‘?_‘:ﬁ%xﬁ R

4. %

Question Number : 134 Question Id : 26449018104 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

f and g be real valued functions that are continuous at xoin R then
SUSOERAET g o f xR

Options :

f4g is continuous at x0

{'-J'V f+g 4 Xo

98/111



7/14/22, 4:25 PM

fe is continuous at xo0

e 1 0%

2. %

; ;
—continuous xo

g
»;"—J’P fig 2%,

3. %

All the above

Question Number : 135 Question Id : 26449018105 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

If {0} is a zero subspace of inner product space V then {0}~ is equal to

q..;:_.d,-L#L_ﬁctg. {0} La’.':.ﬁ':ﬁ"f V wwﬁfb&’!*..g {0} Ji

Options :
¥

.
V

L v {v}
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¢

3. %

H:.T

Question Number : 136 Question Id : 26449018106 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

If f(x) = Ixl+Ix-1[+]x-2] then which of the following is true
-g_éﬂuk_fb’ufj.,}‘ f(x) = Ix|+Ix-11+]x-2] Ji
Options :

fis continuous at x=1,2,3

e fx=123

1.« !

f is continuous and derivable at x=1,2,3

< Fd 14 x=123

2. %

f is continuous at x= 1,2 and derivable at 1,2,3

ey x=123 s fx=1.2

3. %
All the above

4 % L«L’é’w'

100/111



7/14/22, 4:25 PM

Question Number : 137 Question Id : 26449018107 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Let T: V7 — W be a linear transformation. Then I is a non-singular if
Nk 3615 T __:-*c.f_JiEﬂJ”;J.j T:v W Si/ P}
Options :
Tis 1-1

1. ¥

1 is onto
2. #

Tis 1-1 & onto
3. %

KerI # {0}
4. %

Question Number : 138 Question Id : 26449018108 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The value of C in Cauchy’s Mean value theorem for f(x) = %, g(x) = e ¥ in [a,b] is

ol ¢ Bl UEEL L f(x)=eX, g(x)=e™ U [a,b]

Options :

(i
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b
2. % 2

a+hb
3. ¢ 2
L% vab

Question Number : 139 Question Id : 26449018109 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

3 4 4
The sum of the eigen values of the matrix [1 -2 4 |is
T =1 3

b

3 —4 4

i .;rffuﬁg.u,f!bf : _? ‘: J}L&iﬁ

Options :
4
1. ¢
3
2. %
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7

Question Number : 140 Question Id : 26449018110 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

If Ais a square matrix then 4 — A" is
ol -
e A-AT e Al LA
Options :

Symmetric matrix

Ur} | J 3

1. %
Skew Symmetric matrix
JASEES

2.

Hermitian matrix

Lx ST

Skew Hermitian matrix

TGS

4. %

Question Number : 141 Question Id : 26449018111 Display Question Number : Yes Is Question Mandatory : No Calculator : None
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Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

-

]_ )
The inverse of the matrix A4 :[% 1] is

] Y
..;:_,_.:J}L;,I}G"B’ A :[3 IJ L_,,"'.;L

Options :

g, 2

3(3 —l)
1.

1[—1 2]
Lk S\3 L

Question Number : 142 Question Id : 26449018112 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
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T 2 3
Rank of the matrix |3 4 5]is
4 5 6
1 2 3
,;11(3 4 5| b
4 5 6
Options :
2
1.¢
3
2. ®
3. % 1
0
4. %

Question Number : 143 Question Id : 26449018113 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The nullity of the linear transformation T: V — V defined by T(v) = vforallve Vis
'?fﬁyjﬁgj_év eV R TW) =v &@ugaﬁuﬂ;{:ﬁ»@ﬁf T:V -V
Options :

|
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2
2. ®

0
3.¢

3
4. %

Question Number : 144 Question Id : 26449018114 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

A linear transformation T: V — F is called a
e bl v R SIS
Options :
trivial linear transformation

,JB'*FL,PSJF

1. ®

identity linear transformation

JEELe

natural linear transformation
SIS

3. ®
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linear functional

S

4. v

Question Number : 145 Question Id : 26449018115 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

IfU= {(1,2,1), (0,1,2)}, W={(1,0,0), (0,1,0)} then dim (U+W) = |
= dim (U+W) == U={(1,2,1), (0,1,2)}, W={(1,0,0), (0,1,0)} /1

Options :

Question Number : 146 Question Id : 26449018116 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

InV3(R), A= 1{(a,b,0)/a,b ER}and B ={(0,0,c)/c € R} are subspace of Vthen AN B=
AnB= Jq_,{fwu::»;i V B = {(0,0,¢)/c € R} sl V5(R), A ={(a,b,0)/a,b € R} - Vi(R)
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Options :

{(a,b,c)/a,b,c € R}

1. ®
2.¢ {0}

f(a,0,¢)/a,c € R}
3. %

{(a,b,0)/a,b € R}
4. %

Question Number : 147 Question Id : 26449018117 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

If a 3x8 matrix A has rank 3 then dim Nul A =

= dim Nul A << 3x8 A U703 1

Options :
<
1. %
3
2. %
5
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Question Number : 148 Question Id : 26449018118 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

If S = {(1,0,0)(2,0,0)(3,0,0)} then L(S) in V5(R) is
= L(S) U* V5(R) S = {(1,0,0)(2,0,0)(3,0,0)} /1
Options :

{(0,x,0)/x € R}

1. *

{(x,0,0)/x € R}
2.9

{(x,y,0)/x,y € R}
3. %

fHx.v=2) x;v2 €E R}
4. %

Question Number : 149 Question Id : 26449018119 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
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The only vector orthogonal to every vector in Vis

~& ﬁd}fﬁ;hédﬁﬁ-ﬁﬁuﬁ \'4

Options :

Question Number : 150 Question Id : 26449018120 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

If W is a subspace of R* given by W={(a, b, ¢, d) / b-2¢+d=0}, then dim W=
= dim W Vb W={(a,b,c.d) / b-2c+d=0} 2e W Wi R* i

Options :

2
1. #®

2. ¢

110/111



7/14/22, 4:25 PM

=

111111



